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( Semester II)

Time allotted : 1 Hrs.25 Min. Full Marks : 70
[The figure in the margin indicates full marks.]

Group-A
(Multiple Choice Type Question) 1 x 70=70
Choose the correct alternative from the following :
(D .
‘[ xlog x B
a) logx+c b) log(logx)+c
) e +c d) None of these
® . -
[ —dv=
13741
a’) ll}g|3:‘—1|—f b) 31+1+f‘
c) d
lcgl_;:._1|+ c lcglf:,_1|+ c
(3) cos 2xd _
" (sinx+cos :'.']:
a) log |sin X+ cCcos :-.'| b) log |sin —cos -Tl
: d
9 —iog Jsin 2+ cos ) None of these
@ .
[ -

—_———
T C0s X —SsIn X

b)

a) log|sec2x +tan 2x|+¢ log |sec 2x—tan 2x|+ ¢

c) d)

1
?log|sec2r—tan2r|— c 1;]_0%|53C2_‘(—t3112_‘(|— c
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©)
[

" CcOs X

(7) I cotlxa =

a) -(cotx+x)+c
¢) -cotx+x+c

sin® x 3 .
—4(25: =Atan” xthen A is

b) .
3
b) 231‘—1
+C
3x+1

d) None of these

b) -(cotx-x)+c
d) None of these

(8) I[}_,Q"_‘.:=
a) 0 b) x
c) dx d) constant
9
NI
ac x )
2) (1) b) S
| :"-_;J_'_f { X _?j+f
©) [ 1) d o1y
IL-l—?}+|:‘ I I+:J+C‘
(10) _[Q"CE dx =
a) x4+ b) log=+c
c) F d
) :"?4_ ) xt+e
) The formula I’ax(ﬁ'= 2+ ¢ isinvalid for a=
- loga
a) 1 b) 2
c) 3 d) None of these
(12) 1 [ _ ktan Xthenkis
S xt+ 25 5
a) 1 b) 5
©) d)
5 -5
13 . iy
(13) If [M{ﬁ'= Flx)+logsin x+ ¢ then f(x)is
- xsin x
a) x b) &
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c) logx
(14) J’ gl—lg:‘d1_=
a) ex+c
c) xloge+c

(1 5) I sec 3x tan 3xax =

a) 3sec3x+c

©) 4

—SeCX+C
3

(16)

[.‘r sin xalv =

a) XCcosx-sinx+c

C) xXsinx-+secx+c

a7n =
jcos.lx(i‘f:
a) 0
c) 2
1) '
"log__r b —
a) 1
c) 1
(19)
a) «J’E
c) 1
20) .
Ttan: xehe =
a) .
4
C) T
T
2l 1
£1+ X -
a)

L‘T‘ [secx+tan x ) sec xdx =

d) None of these

b) elogx+c
d) None of these

b) sec3x—+c¢

d)

—sec3x+«¢
3

b) —xcosx+sinx+c

none of these

b) 1
d) none of these

b)

d)

b)

f
N

d)

N

b)
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=
ta |

c) 2= d)
3 none of these
(22) =
j sin? xedc=
a) 0 b) 1
c) d =
2 1
(23) PR
The order and degree of the differential equation | — | —2— =3xare
Vel ) ah
a) 2,1 b) 2,2
c) 1,1 d) 1,2
(24) ;o . 2
: : . (dy) (,
The order and degree of the differential equation = |=| 1+ — | are
e )\ &)
a) 2,3 b) 3,2
c) 1,3 d) None of these
(25) The differential equation whose general solutions are y=Asinx+Bcosx is
a7 dx*
c) 2 d)
d—f =0 none of these
%

(26) The differential equation whose general equation is y=kx+6 is

a) v b) s
S el =g
¥ &x > &x
c) v d)
»y= IE+6 none of these .

(27) The differential equation whose general solutions are y=Asinmx+Bcosmx is

a) dﬂ b) dﬂ
dx‘f+m:"y=0 dx‘f+y=0
c) 2 d)
i S e =0 none of these
fx
(28) The general solution of xdy-ydx=0 is
a) 3 4x*=c? b) 37 =
c) ¥ = Ax d) y=—x
(29) The general solution of xdx+ydy=0 is
a) x*—y? =P b) 2?4y =¢?
©) xipt=c d) none of these
30 :
(30) If d‘—'= 2x and y=0at x=0then y=
Py
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a) x b) 2x

C) Tx? d) 2
31 .
( ) If ﬂ=—1_-' and yv=1at x=2 then x=
alx '
a) logy b) logy+1
c) logy+2 d) 2-logy
(32) dv 1+ w7
The general solution of the differential equation — = -~ 1is
ac 1+x”
a) y=tan x+c b) x=tan? y+c
c) d) y-x=c(1+xy)

tan(xy)=c

(33) Integrating factor of (% + 32+ x) dc + xvdhv = Ois

a) x b)y
©) x* d) 2
(34) velx — xeh

Solution of " +sin xdx+ dy=0

2

¥

a) b)

i—cosx+y=lff £+|:os:r+h;|f=C‘F
g g
©) =x d)
S EesrTy=C none of these
(35) ac x g =
The integrating factor of the equation —+——= — is
adv 1+ 1+
a) tan™ y b) g
c) ST d) PR
(36) . . . ay 5.
The integrating factor of the equation d_ +2xy=x is
b
a) gx b) x2
C) é‘f d) é‘f
(37) 1 2
- xz =
()
D73 ® 2 g
2 7
0 2 9 3
(3%)
2 —
If P(A+B)== then the probability of P(A.B) i
7

Page 5 of 9



a) 1 b) 2
7 7
C) =5
) = None of these
(39) The probability of any event 4 satisfies
a) p(d)=1 b) p(a)<0
©) 0=pF(A4) =1 d) None of these
(40) Two events A and B are mutually exclusive if
a) P(ANB) =P(A) P(B) b) PANB)=1
¢) P(AnB)=0 d) none of these
(41)
. | 5
If P(4UB)=2.P(4nB)=_.P(4 )= 5 then P(B)=
a) E b) E
8 4
C) 1 d) 1
3 4
(42) Probability of an impossible event is
a) ™ b) 1
c) 0 d) none of these
(43) One card is drawn from a standard pack of 52. The probability which is either king or a queen is
a) 1 b 2
3 13
c) 3 d)
5 none of these

(44) Two unbiased coins are tossed. Then the probability of obtaining at least one tail is

a) 4 b) 3
3 4
C) 1

3 none of these
(45) Two unbiased coins are tossed one after another , the probability that one is head and other is tail
is

a) b)

| bt
bl |

c) d)

none of these

|

(46) An unbiased die is rolled , the probability that an odd point or a six will appear on the top of the

die is
a) 1 b) 1
2 3
c) 2 d)
3 none of these
47)
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¢y =y ¢ -
Let A and B betwo eventsand P| 4 (=03 P(B)=04 P AB |=05;then P, 4+B |=
b A ! !

b A b A

a) ;s b) 0.8
c) 1 d) none of these

(48) An urn contains 4 white and 6 black balls. Two balls are drawn one after another without replace
ment. Probability of one ball white and one black is

2 1 b) 4
24 15
) 8 d)

— none of these

(49)
Median of the frequency distribution
X, 13 2 5 1
f2 1 1 3

a) b) 16
S rl

C) 1 d) 1
2 16

(50) The AM OF x-2, 10, x+3,71s 9 . The value of x is

a) 10 b) 9

c) 0 d) 11
(51) The A.M of the datas 13,15,17,19,23,30 is

a) 19 b) 19.5

c) 20.5 d) none of these
(52)

Ifv=3x-100 and x=50 then the value of ;

a) 60 b) 30
c) 100 d) 50
(53) Median from the data : 10,5,9,4,8,7,6 is...
a) 5 b) 7
c) 6 d) 8
(54) For a distribution having single mode , the mean is 42.58, median is 42.1 , mode is
a) 41.14 b) 38
c) 40 d) none of these
(55)

The mode of the frequency distribution
x; 20 1 2 3 4
fi23 24 21 25 20

a) 0 b) 1
¢) 2 d) 3
(56)

2x+y=3 is the relation between two variables x and v . If o, = 3then o, =
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a) 3 b) 4

c) 6 d) none of these
(57) Two variables x and y are related by y=10-3x . If the SD of x is 4 then SD of y is
a) 10 b) 11
c) 12 d) 20
(58) Mean and Median of 3,6,24,18,0 are
a) 10.2,3 b) 10.2,6
c) 20.25,6 d) none of these
(59) If var(x)=5 and y=5x+6 then var(y) =
a) 125 b) 150
c) 6 d) none of these

(60) Which are the following digits are not significant of the number 0.025

a) 0 b) 2
c) 5 d) none of these
(61) The number of significant digit in the number 3.0056 is
a) 3 b) 4
c) 5 d) 2
(62)
A*(e* ) (taking h=1) is equal to
a) (e—1)e" b) (e—l)z e
©) (e—1) e d) g
(63)
The value of A% (ax’ +bx+c)is
a) ak’ b) 2a
) a d) 2am°
(64)
Taking /i =1 A{x+cosx)
a) m+2cosx b) x-sinx
C) m—2cosx d) 1-sinx

(65) Newton’ s forward interpolation formula is use to interpolate

a) near end b) near central position
¢) near beginning d) none of these

(66) Lagrange’s interpolation formula deals with

a) Equispaced arguments only b) Unquispaced arguments only
c¢) both (a) and (b) d) none of these
(67) For a given set of values of x and f(x) , the interpolation polynomial is
a) Unique b) not unique
C) has degree >3 d) none of these
(68)
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b
In Traperoidal rule for evaluating the approximate value offf{ x)ebc ; the area given by this
mtegral is approximated by the sum of area of some
a) rectangle b) sectorial figure

c) trapezium d) none of these

(69) The degree of precision of Trapezoidal rule is

a) 1 b) 2
c) 3 d) 5
(70) After being rounded off to two places of decimals the number 8.1083 becomes
a) 8.10 b) 0.11
c) 8.11 d) none of these
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